FOUAD A. NEAIMEH

Ain Aar, Lebanon | +961-76122611 | fan09@mail.aub.edu

Electrical & Computer Engineering Student eager to contribute in changing the world with advanced analytical and problem solving skills, motivated to learn more and thrive in the engineering world.

EDUCATION

B.E. in Electrical & Computer Engineering minoring in Business Administration

American University of Beirut | 2017 – present | Beirut, Lebanon |

Exchange Student at the University of California Los Angeles (UCLA)

|Summer 2019| California, United States |

• French & Lebanese Baccalaureate

Collège des Frères Maristes – Champville |2002 – 2017 | Dik El Mehdi, Lebanon |

Graduated with Honors on the French Baccalaureate

ACADEMIC PROJECTS

- Designed and coded a simple robot, and competed in a hackathon.
- Designed and coded a card game on Arduino.
- Developed a VHDL model for a RISC-V Datapath.
- Conducted a Feasibility study on the environmental impact of diesel powered electric generators in the city
 of Hamra and designed an applicable solution for it.
- Conducted a process analysis on the COVID-19 situation in Lebanese hospitals.

EXTRACURRICULAR ACTIVITIES

Groupe Champagnat Jeunes Member - Champville

Organized camps all over Lebanon where we contributed in helping the underprivileged by renovating their homes and by gathering food and clothes for them.

- AUB Outdoors construction team Member |2019|
- Basketball Player for Champville under 16 team |2014 2016|
- Participated with the winning Quest team during AUB Rally Paper 2019

SKILLS & INTERESTS

- Languages: Fluent in Arabic (native language), French and English
- **Computer Skills:** Microsoft Office Word, PowerPoint, Excel, Internet/Research skills, C++, C#, SQL, Matlab, Simulink, Risk V, VHDL, Proteus, Arduino, LabView, OrCAD, Adobe Photoshop, Video Editing
- **Soft Skills:** Communication Skills, Leadership Skills, Team-Working Skills, Problem Solving Skills, Time Management
- Interests & Hobbies: Technology, Sports, World Politics, Video Games.

EXPERIENCE

Private Tutor

Helped High School Students in Mathematics and Physics. In addition to SAT test practicing sessions.

Cashier in a small business
 Worked as a cashier for two consecutive summers in a small business |2017-2018|

April 25, 2021

Anghami

RE: Engineering Intern position

Dear Hiring Manager,

I was motivated to contact you upon learning that Anghami has an opening for a new Engineering Intern. For several years now, I have focused my career path and academic pursuits on learning and developing those all-important skills necessary to be great in this type of role. As a personal mission, I strive to empower and improve other's outlooks and circumstances, while always ameliorating my skills and knowledge.

I believe that being genuine and nurturing, along with professional and driven, is an essential combination for people in my field. I possess electrical engineering, software engineering, product development and project management skills, highly proficient in C++ and SQL languages. Additionally, my abilities extend to motivation in learning and critical thinking with brilliant teamwork capabilities. Working and studying with people from diverse backgrounds has provided me with a deep understanding and awareness of differences in both individuals and organizations. These qualities will help to support Anghami's mission while reflecting positively on the professionalism and competencies present in its employees.

For further details of my qualifications, background and contributions, please take a moment to review my enclosed resume. I believe that I can successfully be the Engineering Intern you're seeking and I welcome the opportunity to speak with you at your earliest convenience.

Sincerely,

Fouad Neaimeh

Display Transcript (For students following the letter grading system, the GPA is capped at 4.0)

201803619 Fouad A. Neaimeh Apr 26, 2021 11:07 pm



i This is NOT an official transcript. Courses which are in progress may also be included on this transcript, and for students following the letter grading system, the GPA is capped at 4.0.

Transfer Credit Institution Credit Transcript Totals Courses in Progress

Transcript Data STUDENT INFORMATION

Name: Fouad A. Neaimeh

Curriculum Information

Program: BEN in Electr.& Comp.

Eng'g

College: Maroun Semaan Fac of

Eng&Arch

Major and Department: Electrical & Computer

Eng'g, Electrical & Computer Eng'g

This is NOT an Official Transcript

DEGREE

Sought: Bachelor of **Degree Date:**

Engineering

Curriculum Information

Primary Degree

Major: Electrical & Computer Eng'g

TRANSFER CREDIT ACCEPTED BY INSTITUTION -Top-

July 2017: French Baccalaureate

Subject	Course	Title	Grade	Credit Hours	Quality Points	<u>R</u>
BIOL	101	Basic Concepts in Biology	Р	3.000		0.00
CHEM	101	General Chemistry I	Р	3.000		0.00
CHEM	101L	General Chemistry Lab I	Р	1.000		0.00
CHEM	102	General Chemistry II	Р	3.000		0.00
CHEM	102L	General Chemistry Lab II	Р	1.000		0.00
ENGL	000	Engl Trsf Life Science	Р	3.000		0.00
LANG	000	Lang Trsf Life Science	Р	3.000		0.00
MATH	101	Calculus&Analytical Geometry I	Р	3.000		0.00
MATH	102	Calculus&Analytical GeometryII	Р	3.000		0.00
PHIL	101	Applied Philosophy	P	3.000		0.00

4/26/2021 Academic Transcipt

PHYS 101 Introductory Physics I P 4.000 0.00

Attempt Passed Earned GPA Quality GPA Hours Hours Hours Points

Current Term: 30.000 30.000 0.000 0.00 0.00

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Summer 2019:

UCLA,Los Angeles

Subject	Course	Title	Grade	Credit Hours	Quality Points	<u>R</u>
ENGL	244	Selected Topics in Literature	Р	3.000		0.00
		Attempt Passed Hours Hours		l GPA Hours	Quality GPA Points	
Current Te	erm:	3.000 3.00	0 3.000	0.000	0.00	0.00

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

INSTITUTION CREDIT -Top-

Term: Fall 2017-2018

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Academic Standing:

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
EECE	210	UG	Electric Circuits	60	3.000	180.00
ENGL	203	UG	Academic English	77	3.000	231.00
FEAA	200	UG	Intr.to Engineer.& Architectu.	Р	3.000	0.00
MATH	201	UG	Calculus & Analytical Geom.III	63	3.000	189.00
PHYS	210	UG	Introductory Physics II	61	3.000	183.00

Term Totals (Undergraduate)

	Attempt	: Passed Earned		GPA	Quality GPA	
	Hours	Hours	Hours	Hours	Points	
Current Term:	15.000	15.000	15.000	12.000	783.00	65.25
Cumulative:	15.000	15.000	15.000	12.000	783.00	65.25

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Spring 2017- 2018

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'gAcademic Standing:Acad.Prob.1, Prev.Prob=0

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
ECON	212	UG	Element.Macroeconomics Theory	70	3.000	210.00
EECE	230	UG	Introduction to Programming	60	3.000	180.00
EECE	290	UG	Analog Signal Processing	63	3.000	189.00
MATH	202	UG	Differential Equations	W	3.000	0.00
MATH	218	UG	Elem Linear Algebra w Applica.	65	3.000	195.00
PHYS	210L	UG	Introductory Phys.Lab.II.	W	1.000	0.00

Term Totals (Undergraduate)

4/26/2021 Academic Transcipt

	Attempt	Passed Earned GPA			Quality GP	A
	Hours	Hours	Hours	Hours	Points	
Current Term:	16.000	12.000	12.000	12.000	774.00	64.50
Cumulative:	31.000	27.000	27.000	24.000	1557.00	64.87

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Summer 2017-2018

College: Maroun Semaan Fac of Eng&Arch
Major: Electrical & Computer Eng'g

Academic Standing:

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
CHEM	202	UG	Intro to Environmental Chemist	87	3.000	261.00
MATH	202	UG	Differential Equations	67	3.000	201.00

Term Totals (Undergraduate)

	Attempt Hours				Quality GPA Points	4
Current Term:	6.000	6.000	6.000	6.000	462.00	77.00
Cumulative:	37.000	33.000	33.000	30.000	2019.00	67.30

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Fall 2018-2019

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Academic Standing: Good Standing

Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
310	UG	Electronics	60	3.000	180.00
310L	UG	Electric Circuits Laboratory	65	1.000	65.00
320	UG	Digital Systems Design	55	3.000	165.00 A
330	UG	Data Structures & Algorithms	71	3.000	213.00
380	UG	Engineering Electromagnetics	70	3.000	210.00
235	UG	Listening to Jazz	80	3.000	240.00
	310 310L 320 330 380	310 UG 310L UG 320 UG 330 UG 380 UG	310 UG Electronics 310L UG Electric Circuits Laboratory 320 UG Digital Systems Design 330 UG Data Structures & Algorithms 380 UG Engineering Electromagnetics	310 UG Electronics 60 310L UG Electric Circuits Laboratory 65 320 UG Digital Systems Design 55 330 UG Data Structures & Algorithms 71 380 UG Engineering Electromagnetics 70	Hours 310 UG Electronics 60 3.000 310L UG Electric Circuits Laboratory 65 1.000 320 UG Digital Systems Design 55 3.000 330 UG Data Structures & Algorithms 71 3.000 380 UG Engineering Electromagnetics 70 3.000

Term Totals (Undergraduate)

	Attempt Hours	Passed Hours			·	GPA
Current Term:	16.000	13.000	13.000	16.000	1073.00	67.06
Cumulative	53 000	46 000	46 000	46 000	3092 00	67 21

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Spring 2018-2019

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'gAcademic Standing:Acad.Prob.1, Prev.Prob=1

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
ACCT	210	UG	Financial Accounting	80	3.000	240.00
EECE	311	UG	Electronics Circuits	60	3.000	180.00

4/26/2021 Academic Transcipt 3.000 **EECE** 321 UG Computer Organization 58 174.00 A UG **EECE** 321L Computer Organization Laborat. 60 1.000 60.00 **EECE** 340 UG Signals and Systems 74 3.000 222.00

Term Totals (Undergraduate)

Quality GPA Attempt Passed Earned GPA **Hours Hours Hours Hours Points Current Term:** 13.000 10.000 10.000 13.000 876.00 67.38 **Cumulative:** 66.000 56.000 56.000 59.000 3968.00 67.25

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Summer 2018-2019

College: Maroun Semaan Fac of Eng&Arch
Major: Electrical & Computer Eng'g

Academic Standing:

Subject Course Level Title Grade Credit Quality R Hours Points EXPR 0000 UG Study Abroad P 0.000 0.00

Term Totals (Undergraduate)

Attempt Passed Earned GPA **Quality GPA Hours Hours Hours** Hours **Points Current Term:** 0.000 0.000 0.000 0.000 0.00 0.00 **Cumulative:** 56.000 66.000 56.000 3968.00 67.25 59.000

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Fall 2019-2020

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Academic Standing: Good Standing

Title Grade Credit Quality R Subject Course Level **Hours Points** CHEM 203 UG Introductory Chem Techniques 73 2.000 146.00 **EECE** 3.000 180.00 I 320 UG Digital Systems Design 60 **EECE** 370 UG Eletric Machines& Power Fundam 74 3.000 222.00 INDE 301 3.000 UG **Engineering Economy** 80 240.00 SOAN UG Introduction to Anthropology 3.000 219.00 203 73

Term Totals (Undergraduate)

Attempt Passed Earned GPA **Quality GPA Hours Hours Hours Hours Points Current Term:** 14.000 14.000 14.000 14.000 1007.00 71.92 **Cumulative:** 80.000 70,000 70,000 73.000 4975.00 68.15

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Spring 2019-2020(*)

College: Maroun Semaan Fac of Eng&Arch
Major: Electrical & Computer Eng'g

Academic Standing:

Subject Course Level Title Grade Credit Quality R Hours Points

4/26/2021			Academic Transcipt	Academic Transcipt		
DCSN	200	UG	Operations Management	74	3.000	222.00
EECE	321	UG	Computer Organization	Р	3.000	0.00 I
EECE	410L	UG	System Integration Laboratory	79	1.000	79.00
EECE	473	UG	Power Electronics	87	3.000	261.00
ENGL	206	UG	Technical English	84	3.000	252.00
STAT	230	UG	Introd. to Probab.& Random Var	Р	3.000	0.00

Term Totals (Undergraduate)

	Attempt Hours				Quality GPA Points	
Current Term:	16.000	16.000	16.000	10.000	814.00	81.40
Cumulative:	96.000	86.000	86.000	83.000	5789.00	69.74

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Summer 2019-2020

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Academic Standing:

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
CMPS	211	UG	Discrete Structures	82	3.000	246.00
MKTG	210	UG	Principles of Marketing	73	3.000	219.00

Term Totals (Undergraduate)

	Attempt	Passed	Earned	GPA	Quality (GPA
	Hours	Hours	Hours	Hours	Points	
Current Term:	6.000	6.000	6.000	6.000	465.00	77.50
Cumulative:	102.000	92.000	92.000	89.000	6254.00	70.26

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Fall 2020-2021

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Academic Standing: Good Standing

Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points
EECE	470L	UG	Electric Machines Laboratory	85	1.000	85.00
EECE	474	UG	Electric Drives	79	3.000	237.00
EECE	501	UG	Final Year Project	87	3.000	261.00
EECE	664	UG	Fuzzy Sets,Logic & Application	88	3.000	264.00
GEOL	205	UG	Earth Resources & Energy	77	3.000	231.00
INDE	410	UG	Engineering Ethics	75	3.000	225.00

Term Totals (Undergraduate)

	Attempt Passed Earned G			GPA	Quality GPA	GPA	
	Hours	Hours	Hours	Hours	Points		
Current Term:	16.000	16.000	16.000	16.000	1303.00	81.43	
Cumulative:	118.000	108.000	108.000	105.000	7557.00	71.97	

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

TRANSCRIPT TOTALS (UNDERGRADUATE) -Top-

	Attempt Hours		Earned Hours		. ,	GPA
Total Institution:	118.000	108.000	108.000	99.000	7218.00	72.90
Total Transfer:	33.000	33.000	33.000	0.000	0.00	0.00
Overall:	151.000	141.000	141.000	99.000	7218.00	72.90

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

COURSES IN PROGRESS -Top-

Term: Spring 2020-2021

College: Maroun Semaan Fac of Eng&Arch
Major: Electrical & Computer Eng'g

Subject Course Level Title

Subject	Course	Level	Title	Credit Hours
CMPS	277	UG	Database Systems	3.000
EECE	425	UG	Embedd.Microprocessor Sys.Des.	3.000
EECE	473L	UG	Power Electronics & Drives Lab	1.000
EECE	502	UG	Final Year Project	3.000
EECE	646	UG	Advanced Digital and Data Comm	3.000
MATH	251	UG	Numerical Computing	3.000
PHYS	210L	UG	Introductory Phys.Lab.II.	1.000

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Summer 2020-2021

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Subject	Course	Level	Title	Credit Hours
EECE	500	UG	Approved Experience	0.000

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

Term: Fall 2021-2022

College:Maroun Semaan Fac of Eng&ArchMajor:Electrical & Computer Eng'g

Subject	Course	Level	Title	Credit Hours
ARAB	202	UG	Arab Technical Writing	3.000
EDUC	231	UG	Reading Instruct. in Elem.Sch	3.000
EECE	471	UG	Fund.of Power Systems Analysis	3.000
PSPA	201	UG	Intro to Political Science	3.000

Unofficial Transcript (Note: For students following the letter grading system, the GPA is capped at 4.0)

RELEASE: 8.7.1

© 2021 Ellucian Company L.P. and its affiliates.